
 

 

En abscisses Offreurs 
Vendeurs 

Producteurs 

En ordonnées 
 

Offre agrégée 

Demandeurs 
Acheteurs 

Consommateurs 

En ordonnées 
 

Demande 
agrégée 

Prix de réserve 
pour un sapin 
 
 
 

A 
Nombre de 
producteurs 

 
 

Prix minimum 

A’ 
Nombre cumulé 

croissant 
d’offreurs 

↓ 

B 
Nombre de 

consommateurs 
 

Prix maximum 

B’ 
Nombre cumulé 
décroissant de 
demandeurs 

↑ 

5 € 0 0 0 17 

10 € 0 0 0 17 

15 € 4 4 0 17 

20 € 5 9 2 17 

25 € 3 12 1 15 

30 € 1 13 2 14 

35 € 1 14 9 12 

40 €   1 3 

45 €   0 2 

50 €   1 2 

55 €   0 1 

60 €   0 1 

65 €   0 1 

70 €   0 1 

75    1 1 

     

     

     

     


